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uSSTD auEUY CuNgHSH@siia}-arimed- 2023
NlemL_&@G MY

UIML_LD : 86001 85(5)

uGS! -1
69\6oTT 6T 600T oNl6oL_&6iT
1 @ |12
2 (#F) 2pd
3, (FF) 11
4. (<) R, sa.l”_(Hd OB eufloms
5 @) |
7
6. (&) UTTQI6DETIID
8. (=) | @sr(hiyeref
. ® | %
10. @) |3
2
M. () 12 @&H
12. (FF) 3:1:2
13, (=) 37
14. (&) E
26
u@S! - 11
[6NleorT 6T600T. 28 — &L°_L_mwu 65l6orH]
6516oTIT 6T600T 6SlemL_&6iT
15. A={3,4}
B={-2,0,3
6. fof(k) =2k—1)o0 (2k—1)
=4k —3
sua), fof (k) =5
4k —3 =5
k=2
17. e, a=x+6, b=x+12, c=x+15.

WKT, a,b,c eteirug @ OuhsbES@snLiouflensuilcsr @smijsSwmeor
ewedTm 2 mityser etesfled, b% = ac.
(x+12)? = (x + 6)(x + 15)
x =—18

18 x+2 x2—x—-6 x+2 12yy
. - _ X
4y 12y? 4y (x—3)(x +2)
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_ 3y
_x-—3
19. 8hg a=2,b=-1,c=-1
A= b? — 4ac
= (-1 - 4(2)(-1)
A=9>0
oteo1Bau ey oorhuser Gowl wHMID FHDDG.
20. SI6,
AB = 10 @#&.8.
AC = 14 @&iB.
BC = 6 @&ib.
BD = x orcire.
DC=6—x
Ganeoor SHeEwblau’ 195 G@5Hhmiiulg,
AB BD
AC  DC
10 «x
14 6—x
x =25
& BD =x=25 @& wpHgo DC = 6 —x = 3.5 @&5.
(x2,¥2) = (5,11)
y,oocr Blbe @mislu b uwalisg uTaeUUMHEBHEGS G5 cmanurcor
uremsudledr EwesTum(p,
Yahh g v
Ya—Y1 X2—X1
y—(=H _x—(=6)
11-(—4) 5-(-6)
15x — 11y +46 =0
22 ax + by +c =0 ereorm Grids@sm_1q.60r Fmiay), M = —Ta
(p+3)x+ 12y — 12 = 0 erebrm Gris@sm’_1q.65r Fmilay,
I Cl)
! 12
12x — 7y — 16 = 0 eredrm CmiidGasm_1q.65r Fmiiay,
_—12 12
M=y
8m OGpisBarhsdr armsGsTaaTn OFhGHSTETone oraflc,
Sieubileeest Fmiaysaflesr Qupdahucocst —1 o,@Gbh.
Sipreug, m;xm, = —1
-(p+3) 12 1
12 7
p=4
23, secl 3 sin@ _ 050 B sin@
sinf cosf sinf cosf
_1-sin’6
" sin6 cos6
_ cos?6
~ sinb cos6
= cotf
24, smywrb, | = VrZ + h2 =72 + 242 =625 = 25 §
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g6 L &ledr euemenurtiy = rl = % x7x25 =550 &6.

8@, HlHsneflesr uTiy = e Lo Sledr euemerumiiLf
x4 =550
l=1375 B

o5, 8 Canerhiselfledr &seor Sierasafler eSSl = % g3

4 3
—TIT
372

“m(4)?
in@)?
64
343
= 64 : 343

26. a0 Quflwwsloy, L = 125

las0 Adlw wHoy,S = 63
ofiged =L —S =125—-63 =62

L-S _ 125-63 _ 31 _

.. 62
Gﬁ&&as@as@ =—= =—=—=—=10.33
L+S 125463 94 188

P(4) =05
27 P(ANB) =03
P(AuB)<1
P(A) +P(B)—P(ANB) <1
05+P(B)—03<1
P(B) <0.8
o8 p?x qtxrtxs3=32x7'x5%x23
= p=3,q=7,r=5,s=2
udS! - 111
[69eor 6T600T. 42 - &1 L_mw 6Xleorm]
6Nl6oTIT 6T 600T oNlemL_&6iT
29, f(x) = g -1
fR)=0,f(4)=1f(6)=2,f(10) =4,f(12) =5
(i) ouiflem & @ &g &eifledr &60oTID:-

f(x) ={(2,0),(41),(6,2),(10,4),(12,5)}

(ii) SIL”_L_6)60)600T:-

x 2 4 6 10 12
f(x) 0 1 2 4 5
(iii) SNOYSEGMIIUL D
B
fx)
2 1
4
6 52
10 >4
12 va B
9

(iv) GI6GOITUL_LD:-
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SIS HI LD
x-uadled 1Qa.7 = 2. e0naei
A y-ousdled 1QsT = 1 e

5 ‘(125
4 . (104)
3
2 *(6,2)
1 «(4.1)

2.0) N\

0 2 46 8 10 12 “«

30. @&bSledIcsT 65 (Hd B56M0EED = X 6TETS..

suey,
1+24+3++(x—-1) =G+ +(x+2)+-+49

=(1+24+3++49)—(1+24+3+-+x)

8hiE, S, S,
a=1 a=1 a=1
l=x-1 =149 l=x
n=x-1 n =49 n=x

n n n
Sn=z(a+l) Sn=§(a+l) Sn=§(a+l)

x_1(1+ 1)—49(1+49) X1+ )
2 x ) 2 N
x = 35

@&bSledlesr 65 (hHd Bs56MevsssD = 35

3. Spn =5+ 55+ 555 + - n 2_miiyseir euemr
=51+ 11+ 111 + - n 2_mdiyseir euemr)

=5x g (1+11+111 + - n 2_mdyseir eueo)

5

==(9499 + 999 + - n 2_mIIyS6T CueHIT)
- o

=2[(10 — 1) + (100 — 1) + (1000 — 1) + -1 2 gytnymor cvaon]

n_q
WKT, Sn = a(:—l ) 8hiE, a =10, r =10
_5[10(10™ — 1)
9 10-1

~ 5[10(10’1 — 1) _nl

9 9
(>160608)))

_50(10"—1) 5n

— 81 9

32 2x =3y =-20 - (1)
3y—4z=-10 - (2)

y+3z=105 - (3)
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1 7
33. _(5 2 9 _ (52 30
aB= (] 5 8)X<; _21>_(43 3)
T _ (52 43
(4B) 5(310 53) >
T _
B = (7 2 1) wHmIb
5 1
AT =(2 2
9 8
11 sy (2 Y 52 a3
T T = =
BT =(; —1)X§ g (0 3) > @
(1) wppid (2) Sapibgi(AB)” = BT AT
34. D
B
b
Q
C A
T L Y
p
Gan-Bam aflSlpemmiiug, AABC ~ALOC
CA _AB
CL LO
p_a
x h
ph
—_— =X
a
ph
== 5
x=— -0
Gan-Bam allSlwpemmiug, AALO ~AACD
AL _OL
AC  DC
y h
p b
h
y=t - @
ph ph
D+ @ Xty =4
_ 1 N 1)
P=pP{, Ty
ab
a+b
. _ab .
Bsemeuumest 2_wirb = 7 B
35. g6 MHMm)
uL_LD
@& (HésUUL_L ooy, Hlemlés, Siemwiiy
ibleruesorid
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36.

(x1,y1) =(8,6) B(5.11)

(x2,¥2) = (5,11)
(x3,¥3) = (—5,12)
(x4,¥4) = (—4,3)

X'-6 -4 -2 2 -3 6 8 -1pX

)rl-

Xg x1}
X }’4><x Y1

X3

_— *2
prpangAe uroy= {11 >F X

3

0|

8 5 - — R

{6 >{11>{12>§ 3 Xé}
1

=§(88+60—15—24—30+55+48—24)

=79 &5IT Si0G&6T

37.

7x —3y+12=0 wpmd> x—2y+3=0
@our’_[(ib yairefl, (x,y) = (_—15 i)

11 "11

WKT, X oi5&s6@ SQoooonwuner GnisGsmiqesr  &weorun(),

BGID.
. . -15 9 . . .
ISIEIRNEE T (— —) o601 Yool cuplG @& o &Img).

11 11

b=—

11
o160 Bou, Bz emauwmest Gmiid@&m_Lq.65T F6STUM(H)

9
T
11y =9

11y —9=0

38.

< >
< '

309 609

309 [——I 60°?

C x B y D
@&mBasnesor AABC — &ov,

tan30° = —
an BC
1

V3 o«x
x = hv3

@&mBasneoor AABD - &ov,

tan60° =

V3 =

?%Ikmlﬁ

e
8 HUUEOHEE S6oL_UuL_L 01516606,

h  4h
x+y=h\/§+ﬁ=ﬁ 1]
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30. I 7 = 5x wHhmb2 wrb h =7x  6res.
2nrh = 5500
22
2x7x 5x x 7x = 5500
x=5
2_momeruiledr pmb = 5x = 5x5 = 25 @&.5
2 _momeruilesr 2 wmb = 7x = 7x5 =35 @&.8
40. Gsemautiu(hib @IONEHS Big UUTL,
mr? = 600
(15 bU(H &GS G cmauuneot smhHlesT Heor Serey = 40 &.05.
150 puisEhdEs Gsmanuner srhiler seor Sere] = 6000 &.5.
nr2h + 2mr2H = 6000 &8,
H =60.
gerblleor 2 _wirb, = 6 B.
1. o MiGlovor],
s ={(1,1),(1,2),(1,3),(1,4),(1,5), (1,6),
(2,1),(2,2),(2,3),(24),(2,5),(2,6),
(3’1)’ (3’2)’ (313)1 (314)1 (3’5)’ (3’6)’
(4’1)’ (4’2)’ (413)1 (414)1 (4’5)’ (4’6)’
(5,1),(5,2),(5,3),(54),(5,5), (5,6),
(6,1),(6,2),(6,3),(6,4),(6,5), (6,6)}
~ n(S) =36
(1) A=1{(11),(22),((3,3),(4,4),(55),(6,6)}
n(d) =6
n(A) 6 1
PA =05 3676
(ii) B =1{(1,2),(1,3),(1,5),(2,1),(3,1),(5,,1)}
n(B) =6
n(B) 6 1
P =15 "% "5
i) € ={(11),(12),(1,4),(16),(21),(23),(25),
(3,2),(3,4),(41),(4,3),(5,2),(5,6),(6,1),(6,5)}
n(C) =15
n(C) 15 5
PO=08"3%"12
ivv D={}
n(D)=0
n(D)
P(D) = —n(S)
A={0,12}
42 B = {2,3,4,5}
C ={3,57}
B U (C={2345,7}
AX (B v C)={(0,2),(0,3),(04),(0,5),(0,7)

(1,2),(1,3),(1,4),(1,5), (1,7),
(2,2),(23),(24),(25),(27)} >®)

AXB ={(0,2),(0,3),(04),(0,5),(1,2),(1,3),(1,4), (1,5),
(2,2),(2,3),(2,4),(2,5)}

AXC ={(0,3),(0,5),(0,7),(1,3),(1,5),(1,7),(2,3),(2,5),(2,7)}

(AXB)U (AXC) ={(0,2),(0,3),(0,4),(0,5),(0,7)
(1,2),(1,3),(1,4),(1,5), (1,7),
(2,2),(2,3),(2,4),(25),(27)} >
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« (1) wbgib (2) eSasbs, AX (B U €)= (AXB)U (AXC)

u@Sl - IV

69\6oTIT 6T 6007 oN6oL_&6iT

43.91) 2_&6SI0UL LD 66mIT 860

(P 560 QIL_L LD 6)6DI 560

SI600TL_MD 6L L_ID 660860

@& ([HG&M (H&6T aIeHT 60

@am(H@smL_1g.65r Herd = 10.2 (=1) 10.1 (=) 10.3 @&.5

(S160608))

) 2_&6SI0UL LD 66DIT 860

@amL_(HS 816501 (1)) 6UEHIT 860

6L LD 606D & 60

@aimeror & (&L GI6UL_1q 6MW RIEHT & 60

AABC suemngeo

44.) Xoigs, Y o158
SierayHSI_L b
oM MIUTL_Lq 65T QI6DE : GHIFLOTMEO

swerun(: y = kx
y=(31x
yeireflascmon s @Ml g CuiisGam(h cucmrsco

X = 6 oreofleo, y = 18.6
UL $Sledr Nl L b 6 @&F B N5 SHHGD Curg e’ 1”& Sledr
&mhmere| 18.6 @&.1D @ b.

(160608))

) Xogs, Y o856

SterayHSI”_L b

y = x* — 5x — 6 (@B@sgb 5 yereflser)

X -2 | -1 0 1 2 3 4 5 6 7
y 8 0 -6 | —10| —-12|—-12| -10 | —6 | O 8

yeireflaer @& Ml &l UTEIGHETILD GIEHIT S 60

=8
X -2 | -1, 0 1 2
y 8 | 8| 8| 8| 8
@rii&Ga () cuemT g6

Siey: x ={-2,7}
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